

Product

LOT # Shelf Life	TL2105293 2 years	
Properties	Specifications	Results
Appearance Odor Gardner Color pH Specific Gravity % Total Solids Aloin Total Plate Count Yeast and Mold	Colorless to slight yellow liquid Slight Vegetable 1 Maximum 3.5 – 4.5 0.997 – 1.004 0.5 Minimum < 0.1ppm < 10 cfu/g 10 cfu/g No pathogens present	Complies Complies < 1 4.18 1.003 Complies < 0.1 Complies Complies

ALOF VERA LIQUID



Product LOT # Shelf Life	ALOE VERA LIQUID TL2105271 2 years	
Properties	Specifications	Results
Appearance Odor Gardner Color pH Specific Gravity % Total Solids Aloin Total Plate Count Yeast and Mold	Colorless to slight yellow liquid Slight Vegetable 1 Maximum 3.5 – 4.5 0.997 – 1.004 0.5 Minimum < 0.1ppm < 10 cfu/g 10 cfu/g No pathogens present	Complies Complies < 1 4.18 1.003 Complies < 0.1 Complies Complies



Product LOT # Shelf Life	ALOE VERA LIQUID TL2102116 2 years	
Properties	Specifications	Results
Appearance Odor Gardner Color pH Specific Gravity % Total Solids Aloin Total Plate Count Yeast and Mold	Colorless to slight yellow liquid Slight Vegetable 1 Maximum 3.5 – 4.5 0.997 – 1.004 0.5 Minimum < 0.1ppm < 10 cfu/g 10 cfu/g No pathogens present	Complies Complies < 1 4.16 1.003 Complies < 0.1 Complies Complies



Product

LOT # Shelf Life	TL2101050 2 years	
Properties	Specifications	Results
Appearance Odor Gardner Color pH Specific Gravity % Total Solids Aloin Total Plate Count Yeast and Mold	Colorless to slight yellow liquid Slight Vegetable 1 Maximum 3.5 – 4.5 0.997 – 1.004 0.5 Minimum < 0.1ppm < 10 cfu/g 10 cfu/g No pathogens present	Complies Complies < 1 4.17 1.004 Complies < 0.1 Complies Complies

ALOF VERA LIQUID



Product

LOT # Shelf Life	TL2101015 2 years	
Properties	Specifications	Results
Appearance Odor Gardner Color pH Specific Gravity % Total Solids Aloin Total Plate Count Yeast and Mold	Colorless to slight yellow liquid Slight Vegetable 1 Maximum 3.5 – 4.5 0.997 – 1.004 0.5 Minimum < 0.1ppm < 10 cfu/g 10 cfu/g No pathogens present	Complies Complies < 1 4.14 1.003 Complies < 0.1 Complies Complies

ALOF VERA LIQUID



Product Lot # Shelf Life	ALOE VERA LIQUID TL2010754 2 years	
Properties		Results
Appearance	Colorless to slight yellow liquid	Complies
Odor	Slight Vegetable	Complies
Gardner Color	1 Maximum	<1
рН	3.5 – 4.5	4.13
Specific Gravity	0.997 - 1.004	1.003
% Total Solids	0.5 Minimum	Complies
Aloin	< 0.1ppm	<0.1
Total Plate Count	< 10 cfu/g	Complies
Yeast and Mold	< 10 cfu/g	Complies
	No pathogens present	



Product Lot # Shelf Life	ALOE VERA LIQUID TL2007602 2 years	
Properties		Results
Appearance	Colorless to slight yellow liquid	Complies
Odor	Slight Vegetable	Complies
Gardner Color	1 Maximum	<1
рН	3.5 – 4.5	4.13
Specific Gravity	0.997 - 1.004	1.003
% Total Solids	0.5 Minimum	Complies
Aloin	< 0.1ppm	<0.1
Total Plate Count	< 10 cfu/g	Complies
Yeast and Mold	< 10 cfu/g	Complies
	No pathogens present	



Product Lot # Shelf Life	ALOE VERA LIQUID TL2008635 2 years	
Properties		Results
Appearance	Colorless to slight yellow liquid	Complies
Odor	Slight Vegetable	Complies
Gardner Color	1 Maximum	<1
рН	3.5 – 4.5	4.12
Specific Gravity	0.997 – 1.004	1.003
% Total Solids	0.5 Minimum	Complies
Aloin	< 0.1ppm	<0.1
Total Plate Count	< 10 cfu/g	Complies
Yeast and Mold	< 10 cfu/g	Complies
	No pathogens present	



Product Lot # Shelf Life	ALOE VERA LIQUID TL2005445 2 years	
Properties		Results
Appearance	Colorless to slight yellow liquid	Complies
Odor	Slight Vegetable	Complies
Gardner Color	1 Maximum	<1
рН	3.5 – 4.5	4.18
Specific Gravity	0.997 - 1.004	1.003
% Total Solids	0.5 Minimum	Complies
Aloin	< 0.1ppm	<0.1
Total Plate Count	< 10 cfu/g	Complies
Yeast and Mold	< 10 cfu/g	Complies
	No pathogens present	



Product Lot # Shelf Life	ALOE VERA LIQUID TL2004288 2 years	
Properties		Results
Appearance	Colorless to slight yellow liquid	Complies
Odor	Slight Vegetable	Complies
Gardner Color	1 Maximum	<1
рН	3.5 – 4.5	4.18
Specific Gravity	0.997 - 1.004	1.003
% Total Solids	0.5 Minimum	Complies
Aloin	< 0.1ppm	<0.1
Total Plate Count	< 10 cfu/g	Complies
Yeast and Mold	< 10 cfu/g	Complies
	No pathogens present	



Product Lot # Shelf Life	ALOE VERA LIQUID TL2003167 2 years	
Properties	Specifications	Results
Appearance	Colorless to slight yellow liquid	Complies
Odor	Slight Vegetable	Complies
Gardner Color	1 Maximum	<1
рН	3.5 – 4.5	4.20
Specific Gravity	0.997 - 1.004	1.003
% Total Solids	0.5 Minimum	Complies
Aloin	< 0.1ppm	<0.1
Total Plate Count	< 10 cfu/g	Complies
Yeast and Mold	10 cfu/g No pathogens present	Complies



Product

Lot # Shelf Life	TL2001042 2 years	
Properties	Specifications	Results
Appearance	Colorless to slight yellow liquid	Complies
Odor	Slight Vegetable	Complies
Gardner Color	1 Maximum	< 1
рН	3.5 - 4.5	4.14
Specific Gravity	0.997 – 1.004	1.003
% Total Solids	0.5 Minimum	Complies
Aloin	< 0.1ppm	< 0.1
Total Plate Count	< 10 cfu/g	Complies
Yeast and Mold	10 cfu/g No pathogens present	Complies

ALOE VERA LIQUID